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-1
-1 -2
PAC Mg
No |( wth) | ( wth) | ( wth)
1.060 5
() 974.8 (90.7) 30
(g/cm’) 2.458 10.0 2.0 5.0
() 18.5 7.5
pH 7.0 10.0
fe------- F ac |
- T i
....u....‘-’ pH
@
-2
0.75mm
@
-2
10.0% 2.0%
-1 3.0 5.0 7.5

10.0 %
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Mg
No (MPa) ) (k) pH pH
(wth) (kg/h) % KN/
0.0 60 10.80 10.80 8.4 8.1 103.3 875
3.0 40 10.11 15.16 8.8 8.6 102.0 890
5.0 1.5 40 10.20 15.30 9.1 8.7 100.4 954
7.5 40 10.27 15.41 9.4 9.0 96.7 990
10.0 40 10.38 15.57 9.5 9.3 95.7 1226
120 1300
—o—
1S n_ =& 1200
110 S
< 1100 ¥
105
-2 \Q\Q /A/ 1000
100
a) % | 900
90 1 1 1 1 1 1 800
01 2 3 4 6 7 9 10
pH Mg wtth)
-3
1.5MPa
-3
b)
60
40
@JI1S A 1216)
JCS L-01 1.5
20
28
21 28 7
21 @IS A 10.0
1228) @JIS A 1211)
20 28 (pH)
pH10
®
a) pH
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-4
28
No KV e (kN/n?) CE;)
88.1 | 34.1 980 2.3
131.9 | 92.2 1134 3.0
165.6 | 126.9 1963 6.5
453.4 | 372.9 @0 | 170
631.7 | 606.2 Goo )| 288
14
13
12 4 —°— A
N1/ -
10 H _g
9_
8
7 il f
6
: =
4
; e
O 1 1 1 1 1 1 1 1
0 1 2 3 4 5 6 7 8 9 10
Mg ( wtl%)
_4 1
b)
-4
-4
-4
5.0
5.0
-5
-5

700
600 [—
é; 500 [— @
400 B
300
200
100 —T
0 J:L 1 1 1 1
-5
-5
1.070
() 834.6 (89.3)
(g/cm) 2.544
() 16.4
pH 7.2
1/3
€
-5
1.5Mpa
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PAC
No |( weh) | (

wth)

Mg
wtlh)

10.0 2.0

5.0

10.0

&)

10.0% 2.0%

5.0 10.0%

®

-1 Mg

2)
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!
|
!
— | 30cm
y
|
v
| 6
1 -4
| 2,4,6
i -7
— [ w 2,46 (
N H H
| ] | o ) p p pH W KN/
} 90 7.6 | 8.1 | 8.0 88.3 863
AAAAAAAAAA .
| | 74 9.2 | 8.6 | 9.4 87.2 1201
-7 70 9.8 8.7 10.0 84.6 1351
N = = -8
2
| [ No % KN/m %
91.4 93.9 409 440
—— = = — ( 92.2) ( 435)
94.3 96.1 960 1252 5
8 ( 94.5) | ( 1151) .
91.6 94.0
( 92.6) | (3000 ) 12.7
b)
-7 pH
-8
8t pH
-4 pH 8.6
c)
pH
)
a)
-7 pH 10.0
b)
-8
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400kN/m?

10

10

10

28
28 28
No %
kN/m? KN/m? % % kN/m?
97.8 38.4 604 1.6 « )
81.2 187.7 1888 5.6 86.6 143.6
71.4 344.1 (3000 ) 45.5 81.0 265.5
10
90%
800kN/m?
@
8
@
a)
3 5
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3000 ¢ ®

2500

( 3000 )

2000

(kN/m?)

1500

b3

b3

1000 F

500 g 5 = <)

b)

©

Mg

D
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